= BV B g -y 9

=
flo
)

O V2 @ V3 ® V6 @ 23 ® 36



ohe 13 2ol Holrh 342 —dxy—4y? & AAZHE 0] Se)l o] Lol

Y ol=32"-4zy—4y’
y—4y

@ 4x @ 8x ® 8x+4y
@ 4xy ® 8y



2k o] g el Pol x & F5HH?

Pl AN
_--oCm-~-~ _ z ~
/
I
3cm =
\\
@ 3cm @ 5cm ® 15cm
1
@ +15cm ® \/_5(3111

2



1271
@ Vda® =2a © -Va?=a
©® -V9a2 = -3a ® /(-5a)? =5a
@ -\/(-a)’ =-a

@ 174 @ 271 @ 37 @ 4 7 ® 574



—2<x<y<0°eluﬂ,q%

5.

(-2

(=y)?

PEEE

Q
©

(2+y)?

(y-2)2

® 06 066

@ © ® G

NG



=

.y o stol VI20% 7} 1 2E 347 HES xy o

L oHE % x 9 3ol B 4 Sl AL



7. xofl T oJZA ex? - 13x-20 & A5-25H 7F Ao (ax—5)(5x+b)
Ao, a+b+c 9 G2

D 16 @ 17 @ 18 @ 21 ® 22



a, b7t (a-1)° - 4p% = 33 & T
M ZAH=7E? (T, a > 2b > 0)

@ 274 ® 374

& o, &M% (a, b) =

- =

@ 474

® 574



